



perforated pre-cast cement concrete rings -4'-6" ventilator XA wash basin 3'-6"X3'-0" LVL. 1'-3" × 5-52 PASSAGE 3'-0" WIDE 1-1-2'-4" 11:-71" LVL. 1'-3" half round channal 9 LVL. 1'-0" SLOPE URINAL low height wall low height wall 5'-02" 5-01 2'-4" 9 9 ้ wash basin DETAILED PLAN BOYS TOILET LVL. 0'-0" (slope 1:12) ramp up

## RAJASTHAN COUNCIL OF ELEMENTARY EDUCATION, JAIPUR

Detailed and Abstract of Estimate ( For Primary and Upper Primary Schools)

Name of Work: constriction of Toilet block for Boys

, AIX	I-A (Bull	ding Work) Based on BSR PWD - 2014, Ja	ipur ci	rcle						
S. No.	BSR Ref	Description	No.	L	В	H/D	Qty	Unit	Rate	Amount
		Earth work in excavation by mechanical means (								
		trenches or drains (not exceeding 1.5 m in width ramming of bottoms, lift upto 1.5 m, including tak								
		of jhiri with watering & ramming and disposal of s	-				-			
		meter.	•							
		All kinds of soils								
1	B-2/1.8	Long wall	2	14.875	2.50	2.50	185.938			
		Short wall W.C.,Partition wall	2 1	5.00 3.75	2.50	2.50 2.50	62.500			
		W.C., Faithor wall	1	1.75	2.50 2.50	2.50	23.438 10.938			
		Ramp	1	9.25	3.00	0.50	13.875			
		·					296.688			
		Total					8.401	cum	155.00	1302.18
		PCC in foundation : Providing and laying in posit				-				
		complete in spcified grade excluding the cost of on 1:4:8(1 cement:4 Coarse sand:8 graded stone a		-	-		inth level			
		Long wall	2	14.875	2.50	0.50	37.188			
		Short wall	2	5.00	2.50	0.50	12.500			
2	B-	W.C.,Partition wall	1	3.75	2.50	0.50	4.688			
_	9/3.1.6	W.C.,front wall	1	1.75	2.50	0.50	2.188			
		Ramp	1	10.00	3.00	0.50	15.000			
							71.563			
		Total					2.026	cum	2858.75	5792.99
		Random Rubble stone masonry for with hard stol			nd plinth ir	n Cement S	and mortar			
		above 30 CM thick wall in cement mortat 1:6 (1-0			0.00	4.00	F7 500			
		1st step Long wall Short wall	2	14.375 5.50	2.00	1.00 1.00	57.500 22.000			
		W.C.,Partition wall	1	3.75	2.00	1.00	7.500			
		W.C.,front wall	1	2.25	2.00	1.00	4.500			
	_	2nd step Long wall	2	13.875	1.50	1.00	41.625			
3	B- 21/6.1.	Short wall	2	6.00	1.50	1.00	18.000			
3	6	W.C.,Partition wall W.C.,front wall	<u>1</u> 1	3.75 2.75	1.50 1.50	1.00 1.00	5.625 4.125			
		3rd step Long wall	2	13.375	1.00	1.00	26.750			
		Short wall	2	6.50	1.00	1.00	13.000			
		W.C.,Partition wall	1	3.75	1.00	1.00	3.750			
		W.C.,front wall	2	3.25 10.00	1.00 1.00	1.00 0.75	3.250 15.000			
		Ramp		10.00	1.00	0.75	222.625			
							6.304	cum	2458.00	15495.18
		Providing and laying in position cement conc specified grade excluding the cost of center								
		M15 grad			9 711 WO	ik up to piiii	ur icvoi.			
		<u> </u>	2	13.38	1.00	0.33	8.908			
4			2	6.50	1.00	0.33	4.329			
4			1	3.75	1.00	0.33	1.249			
			1	3.25	1.00	0.33	1.082			
					•	•	15.568			
							0.441	cum	4003.75	1764.95
		Brick masonary with F.P.S bricks of lst Class De	signation	on in super	structure a	above plinth		cum	4003.75	1704.93
		floor Vth level in all shapes and sizes in Cement	-			•				
		W.C.,front & back wall	2	4.63	0.75	8.00	55.500			
_	B-	Pillars	6	0.75	0.75	6.00	20.250			
5	17/5.2. 2	Deduction D	-1	2.75	0.75	6.50	-13.406			
	_	ded for ventilator	-1	2.00	0.75	1.50	-2.250			
				1	1	, · · · · · · · · · · · · · · · · · · ·	60.094			
							1.703	cum	4096.00	6976.87
		Half brick msonary in superstructure above plinth designation 75 in cement mortar 1:6	level u	oto floor V	level usin	g F P S bric	ks of			
		Outer walls	2	3.00		8.00	48.00			
			2	3.00		6.00	36.00			
_	B-	Outer walls	1	5.83		6.00	35.00			
6	18/5.9. 3	Outer walls	2	5.08 2.50		6.00	30.50			
	3	Urinal walls	2	2.33	<u> </u>	6.00 6.00	30.00 28.00			
			1	1.96		6.00	11.75			
			•				219.24			
		i l		Ne	et qty		20.375	sqm	478.00	9739.47

S. No.	BSR Ref	·	No.	L	В	H/D	Qty	Unit	Rate	Amount
7	B- 35/9.5	Providing and fixing T-iron frames for doors, wind mitred and welded with 15x3 mm lugs 10cm long of 1:3:6 (1 cement: 3 coarse sand: 6 graded sto plugs and screws or rawl plugs and screws or will including fixing of necessary butt hinges and screprimer.	embed one aggi th fixing	lded in cem regate 20 m clips or wit	ent concr nm nomina h bolts an	ete blocks ´al size) or w d nuts as re	15x10x10 cm rith wooden equire			
			1				20.0			
							20	kg	80.00	1600.00
8	B-37 / 9.17.1 +	Providing and fixing M.S. sheet 1mm thick single suitabilly diagonally braced with 25x3mm flat iron extra including all fittings, as per direction of Eng two coats of anit-corrosive red oxide primer paint	above g. incha	and below	lock rail o	f size 50x5r	mm beading			
	9.17.2		1	2.75		6.50	17.875			
			1	2.75		6.00	16.500			
							34.375			
							3.195		2605.00	8322.20
9	B- 36/9.8. 1	Providing and fixing steel gate, grating, and grills flats, or black pipe with holdfast and fittings comp including cutting welding and fabrication with prin	lete as	per design a	and drawi		10.00	kg	92.00	920.00
		Stone Kharanja: Random rubble dry stone kha				0.50	E 250	ou <del>f</del>		
		W.C. Urinal	3	3.50 2.33	3.00 2.50	0.50 0.50	5.250 8.738	cuft cuft	<del> </del>	
10	B-62/	Giiilai	1	7.74	4.25	0.50	16.448	cuft	†	
	12.38	,	1	3.5	3.00	0.50	5.250	cuft	]	
		T					35.685	cuft	007.00	045.40
		Total M10 grade Nominal Mix					1.010	cum	807.00	815.46
		1: 3: 6 (1 cement : 3 coarse sand : 6 graded ston	e aggr	egate 20mn	n nominal	size).				
		W.C.	1	3.50	3.00	0.17	1.750	cuft		
11		Urinal	3	2.33	2.50	0.17	2.913	cuft		
			1	7.74	4.25	0.17	5.483	cuft		
			1	3.5	3.00	0.17	1.750	cuft		
		Total Providing & Fixing Ist quality standard White, gra other light shades glazed tiles confirming to IS: walls, floors, steps, pillars etc. laid on a bed of ne	13753 a	nd IS: 1562	22 of size	300mm x 2	00mm in	cuft cum	3331.25	1122.05
12	S-	Providing & Fixing Ist quality standard White, graother light shades glazed tiles confirming to IS:	13753 a eat cem	nd IS: 1562 ent slurry fil	22 of size nished wit	300mm x 2 h flush poir	0.337 It blue and 00mm in hting in the	cum	3331.25	1122.05
12	S- 10/1.63	Providing & Fixing Ist quality standard White, gra other light shades glazed tiles confirming to IS: walls, floors, steps, pillars etc. laid on a bed of newhite cement mixed with pigment to match the shall plaster on walls and piller)	13753 a eat cem nade of	nd IS: 1562 ent slurry fii tile complet	22 of size nished wit	300mm x 2 h flush poir ing the cost	0.337 It blue and 00mm in hiting in the tof cement	cum	3331.25	1122.05
12	_	Providing & Fixing Ist quality standard White, gra other light shades glazed tiles confirming to IS: "walls, floors, steps, pillars etc. laid on a bed of newhite cement mixed with pigment to match the st plaster on walls and piller)  W.C.	13753 a eat cem nade of	nd IS: 1562 ent slurry fir tile completed	22 of size nished wit	300mm x 2 h flush poir ing the cost	0.337 In the sum of th	cum	3331.25	1122.05
12	_	Providing & Fixing Ist quality standard White, gra other light shades glazed tiles confirming to IS: walls, floors, steps, pillars etc. laid on a bed of newhite cement mixed with pigment to match the shater on walls and piller)  W.C.  Urinal	13753 a eat cem nade of	nd IS: 1562 ent slurry fii tile complei 11.75 7.33	22 of size nished wit te (exclud	300mm x 2 h flush poir ing the cost 4.00 4.00	0.337 In blue and 00mm in thing in the tof cement 47.000 87.960 134.960	cum	3331.25 613.00	1122.05 7688.71
12	_	Providing & Fixing Ist quality standard White, graother light shades glazed tiles confirming to IS: walls, floors, steps, pillars etc. laid on a bed of newhite cement mixed with pigment to match the sliplaster on walls and piller)  W.C.  Urinal  Providing and fixing 1st quality MAT finished cere and IS: 15622 colour such as white, grey, ivory, shades in floors, steps, pillars etc. laid on a bed white cement mixed with pigment to match the slimotrar bed 1:4).	13753 as at cerminade of 1 3 3 semic tile fume reof neat of anade of	nd IS: 1562 ent slurry fil tile complet  11.75  7.33 e size 300x3 d brown, lig cement slur the tile com	22 of size nished with the (excluded and country of the country of	300mm x 2 h flush poir ing the cost 4.00 4.00  onfirming to light blue a d with flush	0.337 In blue and 00mm in the tof cement  47.000 87.960 134.960 12.543 IS: 13755 Ind other light pointing in the cost of cement	cum		
	_	Providing & Fixing Ist quality standard White, gra other light shades glazed tiles confirming to IS: walls, floors, steps, pillars etc. laid on a bed of newhite cement mixed with pigment to match the st plaster on walls and piller)  W.C.  Urinal  Providing and fixing 1st quality MAT finished cere and IS: 15622 colour such as white, grey, ivory, shades in floors, steps, pillars etc. laid on a bed white cement mixed with pigment to match the st mortar bed 1:4).	13753 a eat cemmade of 1 3 3 emic tile fume reof neat nade of 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	nd IS: 1562 ent slurry fil tile complet  11.75  7.33  e size 300x3 d brown, lig cement slur the tile com	22 of size nished with the (excluded and size of size	300mm x 2 h flush poir ing the cost 4.00 4.00  onfirming to light blue a d with flush	0.337 In blue and 00mm in hiting in the tof cement 47.000 87.960 134.960 12.543 IS: 13755 Ind other light pointing in the cost of cement	sqm		
	_	Providing & Fixing Ist quality standard White, gra other light shades glazed tiles confirming to IS: walls, floors, steps, pillars etc. laid on a bed of newhite cement mixed with pigment to match the st plaster on walls and piller)  W.C.  Urinal  Providing and fixing 1st quality MAT finished cert and IS: 15622 colour such as white, grey, ivory, shades in floors, steps, pillars etc. laid on a bed white cement mixed with pigment to match the st mortar bed 1:4).  Floor  Door slll	13753 aeat cemmade of  1 3 emic tile fume reof made of  1 1 1	nd IS: 1562 ent slurry fil tile complet  11.75  7.33 e size 300x3 d brown, lig cement slur the tile com  3.50  2.75	22 of size nished with the (excluded as 300mm cc) sht green, yry finished and she could be shown as 3.00 0.75	300mm x 2 h flush poir ing the cost 4.00 4.00  onfirming to light blue a d with flush	0.337 In blue and 00mm in thing in the tof cement  47.000  87.960  134.960  12.543 IS: 13755 Ind other light pointing in the cost of cement  10.500  2.063	sqft sqft		
	_	Providing & Fixing Ist quality standard White, gra other light shades glazed tiles confirming to IS: walls, floors, steps, pillars etc. laid on a bed of newhite cement mixed with pigment to match the st plaster on walls and piller)  W.C.  Urinal  Providing and fixing 1st quality MAT finished cere and IS: 15622 colour such as white, grey, ivory, shades in floors, steps, pillars etc. laid on a bed white cement mixed with pigment to match the st mortar bed 1:4).	13753 aeat cemnade of  1 3 emic tile reof neat that hade of  1 1 3	nd IS: 1562 ent slurry fil tile complet  11.75  7.33  e size 300x3 d brown, lig cement slur the tile com  3.50  2.75  2.50	300mm cc pht green, ry finished (inc 3.00 0.75	300mm x 2 h flush poir ing the cost 4.00 4.00  onfirming to light blue a d with flush	0.337 In blue and 00mm in thing in the tof cement  47.000 87.960 134.960 12.543 IS: 13755 Ind other light pointing in the cost of cement  10.500 2.063	sqm sqft sqft		
	_	Providing & Fixing Ist quality standard White, gra other light shades glazed tiles confirming to IS: walls, floors, steps, pillars etc. laid on a bed of newhite cement mixed with pigment to match the st plaster on walls and piller)  W.C.  Urinal  Providing and fixing 1st quality MAT finished cert and IS: 15622 colour such as white, grey, ivory, shades in floors, steps, pillars etc. laid on a bed white cement mixed with pigment to match the st mortar bed 1:4).  Floor  Door slll	13753 aeat cemmade of  1 3 emic tile fume reof made of  1 1 1	nd IS: 1562 ent slurry fil tile complet  11.75  7.33 e size 300x3 d brown, lig cement slur the tile com  3.50  2.75	22 of size nished with the (excluded as 300mm cc) sht green, yry finished and she could be shown as 3.00 0.75	300mm x 2 h flush poir ing the cost 4.00 4.00  onfirming to light blue a d with flush	0.337 It blue and 00mm in titing in the tof cement  47.000 87.960 134.960 12.543 IS: 13755 Indicate the cost of cement  10.500 2.063 17.475 9.675	sqm sqft sqft sqft sqft		
	_	Providing & Fixing Ist quality standard White, gra other light shades glazed tiles confirming to IS: walls, floors, steps, pillars etc. laid on a bed of newhite cement mixed with pigment to match the st plaster on walls and piller)  W.C.  Urinal  Providing and fixing 1st quality MAT finished cert and IS: 15622 colour such as white, grey, ivory, shades in floors, steps, pillars etc. laid on a bed white cement mixed with pigment to match the st mortar bed 1:4).  Floor  Door slll	13753 aeat cemnade of  1 3 emic tile reof neat that hade of  1 1 3	nd IS: 1562 ent slurry fil tile complet  11.75  7.33  e size 300x3 d brown, lig cement slur the tile com  3.50  2.75  2.50	300mm cc pht green, ry finished (inc 3.00 0.75	300mm x 2 h flush poir ing the cost 4.00 4.00  onfirming to light blue a d with flush	0.337 It blue and 00mm in titing in the tof cement  47.000 87.960 134.960 12.543 IS: 13755 Indicate the cost of cement  10.500 2.063 17.475 9.675	sqm sqft sqft sqft sqft		
	_	Providing & Fixing Ist quality standard White, gra other light shades glazed tiles confirming to IS: walls, floors, steps, pillars etc. laid on a bed of newhite cement mixed with pigment to match the st plaster on walls and piller)  W.C.  Urinal  Providing and fixing 1st quality MAT finished cert and IS: 15622 colour such as white, grey, ivory, shades in floors, steps, pillars etc. laid on a bed white cement mixed with pigment to match the st mortar bed 1:4).  Floor  Door slll	13753 a eat cemmade of 1 3 3 a eat cemmic tile fume reof neat onade of 1 1 1 3 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	nd IS: 1562 ent slurry fil tile complet  11.75  7.33  e size 300x3 d brown, lig cement slur the tile com  3.50  2.75  2.50  7.74	22 of size nished with the (excluded and size of size nished with the (excluded and size of si	300mm x 2 h flush poir ing the cost 4.00 4.00  onfirming to light blue a d with flush	0.337 In blue and 00mm in thing in the tof cement  47.000 87.960 134.960 12.543 IS: 13755 Ind other light pointing in the cost of cement  10.500 2.063	sqft sqft sqft sqft sqft sqft		
	_	Providing & Fixing Ist quality standard White, gra other light shades glazed tiles confirming to IS: walls, floors, steps, pillars etc. laid on a bed of newhite cement mixed with pigment to match the st plaster on walls and piller)  W.C.  Urinal  Providing and fixing 1st quality MAT finished cert and IS: 15622 colour such as white, grey, ivory, shades in floors, steps, pillars etc. laid on a bed white cement mixed with pigment to match the st mortar bed 1:4).  Floor  Door slll	13753 a eat cemmade of 1 3 3 a eat cemmic tile fume reof neat onade of 1 1 1 3 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	nd IS: 1562 ent slurry fil tile complet  11.75  7.33  e size 300x3 d brown, lig cement slur the tile com  3.50  2.75  2.50  7.74	22 of size nished with the (excluded and size of size nished with the (excluded and size of si	300mm x 2 h flush poir ing the cost 4.00 4.00  onfirming to light blue a d with flush	0.337 In blue and 00mm in thing in the tof cement  47.000 87.960 134.960 12.543 IIS: 13755 Ind other light pointing in the cost of cement  10.500 2.063 17.475 9.675 36.000 75.713	sqm sqft sqft sqft sqft sqft	613.00	7688.71
	_	Providing & Fixing Ist quality standard White, gra other light shades glazed tiles confirming to IS: walls, floors, steps, pillars etc. laid on a bed of newhite cement mixed with pigment to match the st plaster on walls and piller)  W.C.  Urinal  Providing and fixing 1st quality MAT finished cert and IS: 15622 colour such as white, grey, ivory, shades in floors, steps, pillars etc. laid on a bed white cement mixed with pigment to match the st mortar bed 1:4).  Floor  Door slll	13753 a eat cemmade of 1 3 3 a eat cemmic tile fume reof neat onade of 1 1 1 3 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	nd IS: 1562 ent slurry fil tile complet  11.75  7.33  e size 300x3 d brown, lig cement slur the tile com  3.50  2.75  2.50  7.74	22 of size nished with the (excluded and size of size nished with the (excluded and size of si	300mm x 2 h flush poir ing the cost 4.00 4.00  onfirming to light blue a d with flush	0.337 In blue and 00mm in thing in the tof cement  47.000 87.960 134.960 12.543 IS: 13755 Ind other light pointing in the cost of cement  10.500 2.063 17.475 9.675 36.000	sqm sqft sqft sqft sqft sqft sqft		7688.71
	_	Providing & Fixing Ist quality standard White, gra other light shades glazed tiles confirming to IS: walls, floors, steps, pillars etc. laid on a bed of nowhite cement mixed with pigment to match the stiplaster on walls and piller)  W.C.  Urinal  Providing and fixing 1st quality MAT finished cere and IS: 15622 colour such as white, grey, ivory, shades in floors, steps, pillars etc. laid on a bed white cement mixed with pigment to match the stimortar bed 1:4).  Floor  Door slll  urinal floor  Plaster on new surface on walls in cement sand finish:	13753 aeat cemnade of 1 3 3 emic tile fume reof neat on ade of 1 1 1 1 1 1 1 1 1	nd IS: 1562 ent slurry fil tile complet  11.75  7.33  e size 300x3 d brown, lig cement slur the tile com  3.50  2.75  2.50  7.74  12.00	22 of size nished with the (excluded and size nished with the (excluded and size nished with the (excluded and size nished and	300mm x 2 th flush pointing the cost 4.00 4.00 sonfirming to light blue and with flush duding the cost 4.00 the flush fl	0.337 It blue and 00mm in ting in the tof cement  47.000 87.960 134.960 12.543 IS: 13755 Ind other light pointing in the cost of cement  10.500 2.063 17.475 9.675 36.000 75.713 7.036	sqm sqft sqft sqft sqft sqft	613.00	7688.71
	_	Providing & Fixing Ist quality standard White, gra other light shades glazed tiles confirming to IS: walls, floors, steps, pillars etc. laid on a bed of ne white cement mixed with pigment to match the sl plaster on walls and piller)  W.C.  Urinal  Providing and fixing 1st quality MAT finished cere and IS: 15622 colour such as white, grey, ivory, shades in floors, steps, pillars etc. laid on a bed of white cement mixed with pigment to match the sl mortar bed 1:4).  Floor  Door slll  urinal floor  Plaster on new surface on walls in cement sand	13753 aeat cemnade of 1 3 3 emic tile fume reof neat on ade of 1 1 1 1 1 1 1 1 1	nd IS: 1562 ent slurry fil tile complet  11.75  7.33  e size 300x3 d brown, lig cement slur the tile com  3.50  2.75  2.50  7.74  12.00	22 of size nished with the (excluded and size nished with the (excluded and size nished with the (excluded and size nished and	300mm x 2 th flush pointing the cost 4.00 4.00 sonfirming to light blue and with flush duding the cost 4.00 the flush fl	0.337 It blue and 00mm in ting in the tof cement  47.000 87.960 134.960 12.543 IS: 13755 Ind other light pointing in the cost of cement  10.500 2.063 17.475 9.675 36.000 75.713 7.036	sqm sqft sqft sqft sqft sqft	613.00	
	_	Providing & Fixing Ist quality standard White, gra other light shades glazed tiles confirming to IS: walls, floors, steps, pillars etc. laid on a bed of newhite cement mixed with pigment to match the stiplaster on walls and piller)  W.C.  Urinal  Providing and fixing 1st quality MAT finished cerand IS: 15622 colour such as white, grey, ivory, shades in floors, steps, pillars etc. laid on a bed of white cement mixed with pigment to match the stimortar bed 1:4).  Floor  Door slll  urinal floor  Plaster on new surface on walls in cement sand finish:  Plaster	13753 a eat cemmade of 1 3 3 eat cemmade of 1 3 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	nd IS: 1562 ent slurry fil tile complet  11.75 7.33 e size 300x3 d brown, lig cement slur the tile com  2.75 2.50 7.74 12.00 1:6 including	22 of size nished with the (excluded and size nished with the (excluded and size nished with the (excluded and size nished and	300mm x 2 h flush poir ing the cost 4.00 4.00 4.00  dight blue a d with flush luding the cost  of joint etc.	0.337 It blue and 00mm in ting in the tof cement  47.000 87.960 134.960 12.543 IS: 13755 Ind other light pointing in the cost of cement  10.500 2.063 17.475 9.675 36.000 75.713 7.036  complete fine	sqm sqft sqft sqft sqft sqft	613.00	7688.71
	_	Providing & Fixing Ist quality standard White, gra other light shades glazed tiles confirming to IS: walls, floors, steps, pillars etc. laid on a bed of newhite cement mixed with pigment to match the stiplaster on walls and piller)  W.C.  Urinal  Providing and fixing 1st quality MAT finished cerand IS: 15622 colour such as white, grey, ivory, shades in floors, steps, pillars etc. laid on a bed of white cement mixed with pigment to match the stimortar bed 1:4).  Floor  Door slll  urinal floor  Plaster on new surface on walls in cement sand finish:  Plaster	13753 a eat cemmade of 1 3 3 eat cemmade of 1 3 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	nd IS: 1562 ent slurry fil tile complet  11.75  7.33  e size 300x3 d brown, lig cement slur the tile com  2.75  2.50  7.74  12.00  14.50  3.00	22 of size nished with the (excluded and size nished with the (excluded and size nished with the (excluded and size nished and	300mm x 2 th flush pointing the cost 4.00 4.00 4.00 sonfirming to light blue a did with flush duding the cost 5 th flush	0.337 It blue and 00mm in titing in the tof cement  47.000 87.960 134.960 12.543 IS: 13755 Ind other light pointing in the cost of cement  10.500 2.063 17.475 9.675 36.000 75.713 7.036  complete fine  72.000 116.000 18.000	sqm sqft sqft sqft sqft sqft	613.00	7688.71
	_	Providing & Fixing Ist quality standard White, gra other light shades glazed tiles confirming to IS: walls, floors, steps, pillars etc. laid on a bed of newhite cement mixed with pigment to match the stiplaster on walls and piller)  W.C.  Urinal  Providing and fixing 1st quality MAT finished cerand IS: 15622 colour such as white, grey, ivory, shades in floors, steps, pillars etc. laid on a bed of white cement mixed with pigment to match the stimortar bed 1:4).  Floor  Door slll  urinal floor  Plaster on new surface on walls in cement sand finish:  Plaster	13753 a eat cemmade of 1 3 3 emiliar resorting tile fumeration and e of 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	nd IS: 1562 ent slurry fil tile complet  11.75  7.33  e size 300x3 d brown, lig cement slur the tile com  3.50  2.75  2.50  7.74  12.00  14.50  3.00  3.75	22 of size nished with the (excluded and size nished with the (excluded and size nished with the (excluded and size nished and	300mm x 2 th flush pointing the cost 4.00 4.00 4.00 sonfirming to light blue a did with flush duding the cost of joint etc.	0.337 It blue and 00mm in titing in the tof cement  47.000 87.960 134.960 12.543 IS: 13755 Ind other light pointing in the cost of cement  10.500 2.063 17.475 9.675 36.000 75.713 7.036  complete fine  72.000 116.000 18.000 30.000	sqm sqft sqft sqft sqft sqft	613.00	7688.71
	_	Providing & Fixing Ist quality standard White, gra other light shades glazed tiles confirming to IS: walls, floors, steps, pillars etc. laid on a bed of new white cement mixed with pigment to match the standard political plaster on walls and piller)  W.C.  Urinal  Providing and fixing 1st quality MAT finished cert and IS: 15622 colour such as white, grey, ivory, shades in floors, steps, pillars etc. laid on a bed white cement mixed with pigment to match the standard bed 1:4).  Floor  Door still  urinal floor  Plaster on new surface on walls in cement sand finish:  Plaster  W.C.	13753 a eat cemmade of	nd IS: 1562 ent slurry fil tile complet  11.75  7.33  e size 300x3 d brown, lig cement slur the tile com  3.50  2.75  2.50  7.74  12.00  11:6 including  12.00  14.50  3.00  3.75  3.75	22 of size nished with the (excluded and size nished with the (excluded and size nished with the (excluded and size nished and	300mm x 2 th flush pointing the cost 4.00 4.00 4.00 sonfirming to light blue a did with flush duding the cost 5 th flush	0.337 It blue and 00mm in titing in the tof cement  47.000 87.960 134.960 12.543 IS: 13755 Ind other light pointing in the cost of cement  10.500 2.063 17.475 9.675 36.000 75.713 7.036  complete fine  72.000 116.000 18.000 30.000 22.500	sqm sqft sqft sqft sqft sqft	613.00	7688.71
	_	Providing & Fixing Ist quality standard White, gra other light shades glazed tiles confirming to IS: walls, floors, steps, pillars etc. laid on a bed of newhite cement mixed with pigment to match the stiplaster on walls and piller)  W.C.  Urinal  Providing and fixing 1st quality MAT finished cerand IS: 15622 colour such as white, grey, ivory, shades in floors, steps, pillars etc. laid on a bed of white cement mixed with pigment to match the stimortar bed 1:4).  Floor  Door slll  urinal floor  Plaster on new surface on walls in cement sand finish:  Plaster	13753 a eat cemmade of 1 3 3 emiliar resorting tile fumeration and e of 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	nd IS: 1562 ent slurry fil tile complet  11.75  7.33  e size 300x3 d brown, lig cement slur the tile com  3.50  2.75  2.50  7.74  12.00  14.50  3.00  3.75	22 of size nished with the (excluded and size nished with the (excluded and size nished with the (excluded and size nished and	300mm x 2 th flush pointing the cost 4.00 4.00 4.00 sonfirming to light blue a did with flush duding the cost of joint etc.	0.337 It blue and 00mm in titing in the tof cement  47.000 87.960 134.960 12.543 IS: 13755 Ind other light pointing in the cost of cement  10.500 2.063 17.475 9.675 36.000 75.713 7.036  complete fine  72.000 116.000 18.000 30.000	sqm sqft sqft sqft sqft sqft	613.00	7688.71
13	_	Providing & Fixing Ist quality standard White, gra other light shades glazed tiles confirming to IS: walls, floors, steps, pillars etc. laid on a bed of new white cement mixed with pigment to match the standard political plaster on walls and piller)  W.C.  Urinal  Providing and fixing 1st quality MAT finished cert and IS: 15622 colour such as white, grey, ivory, shades in floors, steps, pillars etc. laid on a bed white cement mixed with pigment to match the standard bed 1:4).  Floor  Door still  urinal floor  Plaster on new surface on walls in cement sand finish:  Plaster  W.C.	13753 a eat cemmade of	nd IS: 1562 ent slurry fil tile complet  11.75  7.33  e size 300x3 d brown, lig cement slur the tile com  3.50  2.75  2.50  7.74  12.00  1:6 including  14.50  3.00  3.75  3.75  2.50	22 of size nished with the (excluded and size nished with the (excluded and size nished with the (excluded and size nished and	300mm x 2 th flush pointing the cost 4.00 4.00 4.00 4.00 flight blue and with flush duding the cost 6 8 6 6 6 6 6 6 6 6 6 6 6 6 6	0.337 In blue and 00mm in thing in the tof cement  47.000 87.960 134.960 12.543 IS: 13755 Ind other light pointing in the cost of cement  10.500 2.063 17.475 9.675 36.000 75.713 7.036  complete fine  72.000 116.000 18.000 30.000 22.500 60.000	sqm sqft sqft sqft sqft sqft	613.00	7688.71
13	_	Providing & Fixing Ist quality standard White, gra other light shades glazed tiles confirming to IS: walls, floors, steps, pillars etc. laid on a bed of newhite cement mixed with pigment to match the stiplaster on walls and piller)  W.C.  Urinal  Providing and fixing 1st quality MAT finished cert and IS: 15622 colour such as white, grey, ivory, shades in floors, steps, pillars etc. laid on a bed of white cement mixed with pigment to match the stimortar bed 1:4).  Floor  Door still  urinal floor  Plaster on new surface on walls in cement sand finish:  Plaster  W.C.  urinal wall	13753 a eat cemmade of	nd IS: 1562 ent slurry filt tile complet  11.75 7.33  e size 300x3 d brown, lig coment slur the tile com  3.50 2.75 2.50 7.74 12.00  1:6 including  12.00 14.50 3.00 3.75 3.75 2.50 2.33 3.88 2.75	22 of size nished with the (excluded and size nished with the (excluded and size nished with the (excluded and size nished and	300mm x 2 th flush pointing the cost 4.00 4.00 4.00 flush pointing to the cost of joint etc.	0.337 In blue and 00mm in thing in the control of cement  47.000 87.960 134.960 12.543 IS: 13755 Ind other light pointing in the cost of cement  10.500 2.063 17.475 9.675 36.000 75.713 7.036  complete fine  72.000 116.000 18.000 30.000 22.500 60.000 41.940 23.280 -17.875	sqm sqft sqft sqft sqft sqft	613.00	7688.71
	_	Providing & Fixing Ist quality standard White, gra other light shades glazed tiles confirming to IS: walls, floors, steps, pillars etc. laid on a bed of newhite cement mixed with pigment to match the stiplaster on walls and piller)  W.C.  Urinal  Providing and fixing 1st quality MAT finished cere and IS: 15622 colour such as white, grey, ivory, shades in floors, steps, pillars etc. laid on a bed white cement mixed with pigment to match the st mortar bed 1:4).  Floor  Door slll  urinal floor  Plaster on new surface on walls in cement sand finish:  Plaster  W.C.	13753 a eat cemmade of	nd IS: 1562 ent slurry fil tile complet  11.75  7.33  e size 300x3 d brown, lig cement slur the tile com  2.75  2.50  7.74  12.00  1:6 including  12.00  14.50  3.00  3.75  3.75  2.50  2.33  3.88	22 of size nished with the (excluded and size nished with the (excluded and size nished with the (excluded and size nished and	300mm x 2 th flush pointing the cost 4.00 4.00 4.00 4.00 flight blue and with flush duding the cost 6 8 6 6 6 6 6 6 6 6 6 6 6 6 6	0.337 It blue and 00mm in titing in the tof cement  47.000 87.960 134.960 12.543 IS: 13755 Ind other light pointing in the cost of cement  10.500 2.063 17.475 9.675 36.000 75.713 7.036  complete fine  72.000 116.000 18.000 22.500 60.000 41.940 23.280	sqm sqft sqft sqft sqft sqft	613.00	7688.71

15 16		plaster Long was Short was Short was Short was Short was Short was add for toilet height deduction door vent  Total  Centering & shuttering with plywood or steel sheets props and removal of formwork for upto floor five le Suspended floors, roofs, landings, staircases, balco blocks, sills, chhajjas, lintel, beam, plinth beam et	p 2 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1			8.00 8.00 1.00 2.00 -6.5 -1.5	210.656 66.000 42.000 8.000 35.000 -17.875 -3.000 340.781 31.671			
		Ram add for toilet height deduction door vent  Total  Centering & shuttering with plywood or steel sheets props and removal of formwork for upto floor five le Suspended floors, roofs, landings, staircases, balco	ncluding syel for : nies, girde	5.25 4.00 17.50 2.75 2.00 Net qty		8.00 1.00 2.00 -6.5 -1.5	42.000 8.000 35.000 -17.875 -3.000 340.781			
		add for toilet height deduction door vent  Total  Centering & shuttering with plywood or steel sheets props and removal of formwork for upto floor five le Suspended floors, roofs, landings, staircases, balco	p 2 1 1 1 1 including size for :	4.00 17.50 2.75 2.00 Net qty		1.00 2.00 -6.5 -1.5	8.000 35.000 -17.875 -3.000 <b>340.781</b>			
		add for toilet height deduction door vent  Total  Centering & shuttering with plywood or steel sheets props and removal of formwork for upto floor five le Suspended floors, roofs, landings, staircases, balco	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	17.50 2.75 2.00  Net qty		2.00 -6.5 -1.5	35.000 -17.875 -3.000 <b>340.781</b>			
		deduction door vent  Total  Centering & shuttering with plywood or steel sheets props and removal of formwork for upto floor five le Suspended floors, roofs, landings, staircases, balco	ncluding s /el for : nies, girde	2.75 2.00 Net qty		-6.5 -1.5	-17.875 -3.000 <b>340.781</b>	  -  -		
		Vent  Total  Centering & shuttering with plywood or steel sheets props and removal of formwork for upto floor five le Suspended floors, roofs, landings, staircases, balco	ncluding sizel for : nies, girde	2.00  Net qty		-1.5	-3.000 <b>340.781</b>	-		
		Total Centering & shuttering with plywood or steel sheets props and removal of formwork for upto floor five le Suspended floors, roofs, landings, staircases, balco	including size for :	Net qty			340.781			
		Centering & shuttering with plywood or steel sheets props and removal of formwork for upto floor five le Suspended floors, roofs, landings, staircases, balco	vel for : nies, girde c.	strutting, pro		(B)				
		Centering & shuttering with plywood or steel sheets props and removal of formwork for upto floor five le Suspended floors, roofs, landings, staircases, balco	vel for : nies, girde c.	strutting, pro		(B)	37.677	1		
		Centering & shuttering with plywood or steel sheets props and removal of formwork for upto floor five le Suspended floors, roofs, landings, staircases, balco	vel for : nies, girde c.		nning hraci		65.393	sqm	128.00	8370.27
		props and removal of formwork for upto floor five le Suspended floors, roofs, landings, staircases, balco	vel for : nies, girde c.			ng both ways		Sqiii	120.00	0010.21
			o							
			1	,	, ,		,			
16				3.000	3.500		10.500	sqft		
16			1	2.500	0.750		1.875	sqft	1	
16			1	2.000	0.750		1.500	sqft	1	
16							13.875	sqft		
16							1.289	sqm	295.00	380.40
		Providing and fabricating reinforcement for R.C placing in position and binding (including cost Bar								
		<del></del>					20.000	l.a.	74.00	1400.00
		Providing and laving in position aposition	of som	ant conserct	e for BCC	etrustural		kg	74.00	1480.00
17 4	B- 43/10.1 6	Providing and laying in position specified grade of cement concrete for RCC structural elements upto floor five level including curing, compaction, finishing with rendering in cement sand mortar 1:3 (1 cement: 3 coarse sand) and making good the joints and cost of plastizers( if required) excluding the cost of centering, shuttering and reinforcement for Beams, suspended floors, roofs, griders having 1 slopes up to 15°, landings, balconies, shelves, chajjas, lintels, bands, plain windows sills, staircases and spiral staircases etc.  M20 grade Nominal Mix / Design Mix								
			1	4.250	4.50	0.333	6.369			
							6.369	cuft		
							0.181	cum	4112.00	742.28
		Grading roof for water proofing treatment with	water pro	offing comp	ound					
	B-	Cement mortar 1:4 (1cement : 4 coarse sand)								
18 4	43/10.1 7.1		1	4.250	4.50	0.083	1.594			
							0.045	cum	4426.25	199.75
		White washing three or more coats to give an	even sha	de on new	surfaces .					
	B-						116	ł		
19 6	51/12.3						110			
	5.1			Item N	No 11		10.781		40.00	407.04
		PANTING ON DOORS & WINDOWS :- Paintii	a with a			of opprove		sqm	10.00	107.81
20 6	B- 63/12.4	manufacture in all shade to give an even shade								
	8.1			2.25 x Ω	ty.item No	o.8	7.180	sqm	55.00	394.90
		Finishing wall with water proofing cement paint	of appro		-			Jylli	55.00	JJ4.JU
21		shade to give an even shade including all sca kg/10 sqm).					•			
		Item No. 11 54.6	2				54.610	sqm	46.00	2512.06
								Joqiii	Total	80512.34
ART-B	3 (sanita	ary Work) Based on BSR PWD 2013, Jaipur	Circle							
1	S-1	P & F Indian type white glazed vitreous china 1st quality W.C. orissa pan (IS:2556 Mark) with 100 mm vitreous china P or S trap including cutting and making good the wall and floor: Size530x410 mm							1995.00	1995.00
2 6	S- 2/1 20	P & F WVC wash basin (1st quality, I.S. : 2556 brackets duly painted, 1 No. 15 mm C.P. Pillar 32 mm C.P. brass waste coupling of approved including cutting & making good the wall.: 450	cock (IS make,25	: 8934 Mar mm G.I. w	k) &		3	each	1718.00	5154.00
	S-3/	urinal					3	each	725.00	2175.00

S. No.	BSR Ref	Description No.	lo.	L	В	H/D	Qty	Unit	Rate	Amount
4		P & F Bib Cock (IS : 8931 Mark) superior quality of a 15 mm nominal bore.	approv	ed make.	C.P. Bras	s 400 gm,	1	each	259.00	259.00
5		P & F Inlet connection (Angle Valves) Superior qualit connection 15 mm brass (IS: 8931)	ty of a	pproved	make C.P	. Intel	4	each	586.00	2344.00
6	S- 27/3.17 .3  P&F rigid PVC Pipe (IS:4985 mark) class II/ (4 Kg. /Cm2.) approved quality /make including joining the pipe with solvent cement rubber ring and lubricant. 110 mm dia  4.24  mtr								188.00	797.00
7	_	S- P&F rigid PVC Pipe (IS:4985 mark) class II/ (4 Kg. /Cm2.) approved quality /make including joining the pipe with solvent cement rubber ring and lubricant. 110 mm dia 1 each							188.00	188.00
8	S- 28/3.18 .9	P&F rigid PVC pipe fittings (IS: 4985 mark) of approvement rubber ring and lubricar		•		• •	4	each	104.00	416.00
9	S- 28/3.18	Pipe Clip 110 mm dia					4	each	25.00	100.00
10		P&F rigid PVC pipe fittings (IS: 4985 mark) of approvement the pipe with solvent cement rubber ring and lubricar					1	each	39.00	39.00
11	Construction of Soakage well in all types of soil of approved drawing , top 90 cm  S- portion in 450 mm thick with cement mortar 1:6 80 mm stone slab covering jointing of							3795.00	3795.00	
12	Construction of Chamber in all types of soil with 300 mm thick masnory in CM. 1 : 6,  S- 100 mm thick C.C. 1 : 5 : 10 in foundation , 20 mm thick inside plaster in Cm 1 : 6,  finished with floating neat cement 50 mm thick M-15 grade C.C. flooring earthwork etc.  complete as per design including disposal of surplus earth within a lead of 50 Mtr.Inside size 450 x 450 mm depth upto 0.5 M & 5 Kg CI cover with frame.							1683.00	1683.00	
13	S- 14/2.11	P & F Ball Cock (IS : 1703 Mark) with Rod & P.V.C. Emm	Ball co	omplete.E	Brass wt. 4	00 gm, 15	1	each	228.00	228.00
14		P & F Full way valve (IS : 778 Mark) or wheel valve omm nominal bore.	of app	roved ma	ke. Gun n	netal 15	1	each	277.00	277.00
15		P&F GI Pipes (External Work) with GI fittings excludi trenching and refilling each etc. 15 mm dia nominal b			239 Mark)	including	10	mtr	168.00	1680.00
16		P & F G.I. pipes (Internal Work) with G.I. Fittings e MS clamps including cutting and making good the w	valls a			Mark) &				
		25mm dia nominal bore 25 mm dia nominal bore B o					5	mtr	277.00	1385.00
17	18/2.26	P & F Precast R.C.C. Water Storage Tank with R.C.0 Long G.I. over-flow pipe including making connection ground level having:340ltr capacity size 90x75x60 cm	ns etc.				1	each	720.00	720.00
		Sub To	otal Pa	rt B		•		•	•	23235.00
_	_	Tota	al (A+E	3)						103747.34
		Add for QC & Contingency 3%)								3112.42
										106859.76
			say							107000.00
		Add provision for water	r soure	es/running	water for	toilet block	(L.S)			38000.00
		A.U.C. D		-1	O 50'					145000.00
		Add for Prorata /super	rvision	charges	@ 5%					7250.00
		Add for Operation 9 Biolinto	incs	- AB	000	oor for 2	0050		L	152250.00
		Add for Operation& Maintai	menc	.ലധ്രസ്ട്രാ	ooo per y	ear ior sy	cai 5			15000.00 167250.00
								_		16/25

Say Rs 1.67 Lac only

## RAJASTHAN COUNCIL OF ELEMENTARY EDUCATION, JAIPUR

Detailed and Abstract of Estimate ( For Primary and Upper Primary Schools)

Name of Work: constriction of Toilet block for Girls

PAR	Γ-A (Bui	lding Work) Based on BSR PWD - 2014, Ja	ipur ci	rcle						
S. No.	BSR Ref	'	No.	L	В	H/D	Qty	Unit	Rate	Amount
140.		Earth work in excavation by mechanical means (								
		trenches or drains (not exceeding 1.5 m in width ramming of bottoms, lift upto 1.5 m, including tak								
		of jhiri with watering & ramming and disposal of s								
		meter.	•							
		All kinds of soils	1	T	1	1	I			
1	B-2/1.8	Long wall	2	14.875	2.50	2.50	185.938			
		Short wall W.C.,Partition wall	2	5.00 3.75	2.50 2.50	2.50 2.50	62.500 23.438			
		W.C., Faithful Wall	1	1.75	2.50	2.50	10.938			
		Ramp	1	9.25	3.00	0.50	13.875			
		·					296.688			
		Total					8.401	cum	155.00	1302.18
		PCC in foundation : Providing and laying in posi					•			
		complete in spcified grade excluding the cost of 1:4:8(1 cement:4 Coarse sand :8 graded stone a		-	-		linth level			
		Long wall	2	14.875	2.50	0.50	37.188			
		Short wall	2	5.00	2.50	0.50	12.500			
2	B-	W.C.,Partition wall	1	3.75	2.50	0.50	4.688			
2	9/3.1.6	W.C.,front wall	1	1.75	2.50	0.50	2.188			
		Ramp	1	10.00	3.00	0.50	15.000			
		·								
							71.563			
		Total					2.026	cum	2858.75	5792.99
		Random Rubble stone masonry for with hard sto			nd plinth i	n Cement S	and mortar			
		above 30 CM thick wall in cement mortat 1:6 (1-0			1	1	T			
		1st step Long wall Short wall	2	14.375	2.00	1.00 1.00	57.500 22.000			
		W.C.,Partition wall	1	5.50 3.75	2.00	1.00	7.500			
		W.C.,front wall	1	2.25	2.00	1.00	4.500			
	_	2nd step Long wall	2	13.875	1.50	1.00	41.625			
3	B- 21/6.1.	Short wall	2	6.00	1.50	1.00	18.000			
3	6	W.C.,Partition wall W.C.,front wall	1	3.75 2.75	1.50 1.50	1.00 1.00	5.625 4.125			
		3rd step Long wall	2	13.375	1.00	1.00	26.750			
		Short wall	2	6.50	1.00	1.00	13.000			
		W.C.,Partition wall	1	3.75	1.00	1.00	3.750			
		W.C.,front wall	1 2	3.25	1.00	1.00 0.75	3.250 15.000			
		Ramp		10.00	1.00	0.75	222.625			
							6.304	cum	2458.00	15495.18
		Providing and laying in position cement cond								
		specified grade excluding the cost of cent M15 grad			g - All Wo	ik up to piiri	ui ievei.			
		Wito grace	2	13.38	1.00	0.33	8.908			
			2	6.50	1.00	0.33	4.329			
4			1			0.33				
				3.75	1.00		1.249			
			1	3.25	1.00	0.33	1.082			
							15.568			
			_		_		0.441	cum	4003.75	1764.95
		Brick masonary with F.P.S bricks of lst Class De								
		floor Vth level in all shapes and sizes in Cement		· · · · · ·						
	D	W.C.,front & back wall	2	4.63	0.75	8.00	55.500			
5	B- 17/5.2.	Pillars	6	0.75	0.75	6.00	20.250			
J	2	Deduction D		2.75	0.75	6.50	-13.406			
		ded for ventilator	-1	2.00	0.75	1.50	-2.250 60.094			
					1	1				
		Half brick msonary in superstructure above plinth	Novel:	oto float \	lovel ··-:-	a E D C had	1.703	cum	4096.00	6976.87
		designation 75 in cement mortar 1:6	ı ievel t	IULU IIUOF V	ievei usin	y r r o bill	IN 6A			
		Outer walls	2	3.00		8.00	48.00			
	_		2	3.00		6.00	36.00			
6	B- 18/5.9.	Outer walls Outer walls	1	5.83		6.00	35.00			
U	18/5.9.	Urinal walls	2	5.08 2.50		6.00 6.00	30.50 30.00			
		Office Walls	2	2.33	1	6.00	28.00			
			1	1.96		6.00	11.75			
				<b>.</b>	ot at:		219.24	0000	470.00	0720 47
	1		l	N <sub>1</sub>	et qty		20.375	sqm	478.00	9739.47

S. No.	BSR Ref	Description	No.	L	В	H/D	Qty	Unit	Rate	Amount
		Providing and fixing T-iron frames for doors, wind mitred and welded with 15x3 mm lugs 10cm long	embed	ded in cem	ent concr	ete blocks 1	15x10x10 cm			
7	B- 35/9.5	of 1:3:6 (1 cement : 3 coarse sand : 6 graded stoplugs and screws or rawl plugs and screws or wi including fixing of necessary butt hinges and screws	th fixing	clips or wit	h bolts an	d nuts as re	equire			
	00/0.0	primer.	1				60.0	_		
							60	kg	80.00	4800.00
8	B-37 / 9.17.1 +	Providing and fixing M.S. sheet 1mm thick single suitabilly diagonally braced with 25x3mm flat iron extra including all fittings, as per direction of Eng two coats of anit-corrosive red oxide primer paint	n above lg. incha	and below	lock rail o	f size 50x5r	mm beading			
	9.17.2		1	2.75		6.50	17.875			
			1	2.75		6.00	16.500			
			3	2.25		6.00	40.500			
	•						74.875			
		Providing and folian standards writing and will		-fl 4			6.959	sqm	2605.00	18127.27
9	B- 36/9.8. 1	Providing and fixing steel gate, grating, and grill flats, or black pipe with holdfast and fittings compincluding cutting welding and fabrication with principles.	lete as	per design	and drawi		10.00	kg	92.00	920.00
		Stone Kharanja: Random rubble dry stone kh	aranja							
		W.C. Urinal	1 3	3.50 2.33	3.00 2.50	0.50 0.50	5.250 8.738	cuft cuft	1	
10	B-62/ 12.38	Giriai	1	7.74	4.25	0.50	16.448	cuft	<u> </u>	
	12.00		1	3.5	3.00	0.50	5.250 35.685	cuft cuft	<u> </u>	
		Total					1.010	cum	807.00	815.46
		M10 grade Nominal Mix 1: 3: 6 (1 cement : 3 coarse sand : 6 graded stor	ne aggr	egate 20mr	n nominal	size).				
		W.C.	1	3.50	3.00	0.17	1.750	cuft		
		Urinal	3	2.33 7.74	2.50	0.17	2.913	cuft		
11					4.25	0.17	5.483	cuft		
11			1			0.17				
11		Total Providing & Fixing 1st quality standard White, gra other light shades glazed tiles confirming to IS: walls floors steps pillars etc. laid on a bed of pro-	1 ay, ivory 13753 a	3.5 ,fume red b and IS: 1562	3.00 rown, ligh 22 of size	300mm x 20	1.750 11.895 <b>0.337</b> It blue and 00mm in	cuft cuft cum	3331.25	1122.05
	S-	Providing & Fixing Ist quality standard White, gra other light shades glazed tiles confirming to IS: walls, floors, steps, pillars etc. laid on a bed of no white cement mixed with pigment to match the sl plaster on walls and piller)	1 ay, ivory 13753 a	,fume red b and IS: 1562 ent slurry fi tile comple	3.00 rown, ligh 22 of size nished wit te (exclud	t green, ligh 300mm x 20 th flush poir ing the cost	1.750 11.895 0.337 In blue and 00mm in thing in the tof cement	cuft cuft	3331.25	1122.05
11	S- 10/1.63	Providing & Fixing Ist quality standard White, graother light shades glazed tiles confirming to IS: walls, floors, steps, pillars etc. laid on a bed of not white cement mixed with pigment to match the signature on walls and piller)  W.C.	1 13753 a eat cem hade of	,fume red b ind IS: 1562 ent slurry fi tile comple	3.00 rown, ligh 22 of size nished wit te (exclud	t green, ligh 300mm x 20 th flush poir ing the cost	1.750 11.895 0.337 at blue and 00mm in hiting in the t of cement	cuft cuft cum	3331.25	1122.05
		Providing & Fixing Ist quality standard White, gra other light shades glazed tiles confirming to IS: walls, floors, steps, pillars etc. laid on a bed of no white cement mixed with pigment to match the si plaster on walls and piller)	1 13753 a eat cem hade of	,fume red b ind IS: 1562 ent slurry fi tile comple	3.00 rown, ligh 22 of size nished wit te (exclud	t green, ligh 300mm x 20 th flush poir ing the cost	1.750 11.895 0.337 It blue and 00mm in hiting in the t of cement 47.000 87.960	cuft cuft cum	3331.25	1122.05
		Providing & Fixing Ist quality standard White, graother light shades glazed tiles confirming to IS: walls, floors, steps, pillars etc. laid on a bed of not white cement mixed with pigment to match the signature on walls and piller)  W.C.	1 13753 a eat cem hade of	,fume red b ind IS: 1562 ent slurry fi tile comple	3.00 rown, ligh 22 of size nished wit te (exclud	t green, ligh 300mm x 20 th flush poir ing the cost	1.750 11.895 0.337 In blue and 00mm in titing in the at of cement 47.000 87.960	cuft cuft cum		
		Providing & Fixing Ist quality standard White, graother light shades glazed tiles confirming to IS: walls, floors, steps, pillars etc. laid on a bed of not white cement mixed with pigment to match the signature on walls and piller)  W.C.	1 1 13753 a eat cem hade of	,fume red b and IS: 1562 ent slurry fi tile comple	3.00 rown, ligh 22 of size nished wit te (exclud	t green, ligh 300mm x 20 th flush poir ing the cost 4.00 4.00	1.750 11.895 0.337 In blue and 00mm in thing in the tof cement 47.000 87.960 134.960	cuft cuft cum	3331.25	1122.05 7688.71
		Providing & Fixing Ist quality standard White, graother light shades glazed tiles confirming to IS: walls, floors, steps, pillars etc. laid on a bed of nowhite cement mixed with pigment to match the si plaster on walls and piller)  W.C.  Urinal	y, ivory 13753 a eat cem hade of	3.5  "fume red b and IS: 1562 ent slurry fi tile comple  11.75  7.33  e size 300x ed brown, lig cement slur	3.00  rown, ligh 22 of size nished wit te (exclud	t green, ligh 300mm x 20 th flush poir ing the cost 4.00 4.00  anfirming to light blue a d with flush	1.750 11.895 0.337 It blue and 00mm in thing in the tof cement  47.000 87.960 134.960 12.543 IS: 13755 Is other light pointing in the cost of cement	cuft cuft cum		
		Providing & Fixing Ist quality standard White, graother light shades glazed tiles confirming to IS: walls, floors, steps, pillars etc. laid on a bed of nowhite cement mixed with pigment to match the siplaster on walls and piller)  W.C.  Urinal  Providing and fixing 1st quality MAT finished cerand IS: 15622 colour such as white, grey, ivory, shades in floors, steps, pillars etc. laid on a bed white cement mixed with pigment to match the simortar bed 1:4).	y, ivory 13753 a eat cemhade of 1 3 3 emic tile fume re of neat hade of 1	,fume red b and IS: 1562 ent slurry fi tile comple 11.75 7.33 e size 300x ed brown, lig cement slur the tile com	3.00  rown, light 22 of size nished witte (excluded and another size of size nished witte (excluded another size of si	t green, ligh 300mm x 20 th flush poir ing the cost 4.00 4.00  anfirming to light blue a d with flush	1.750 11.895 0.337 It blue and 00mm in hiting in the tof cement  47.000 87.960 134.960 12.543 IS: 13755 Ind other light pointing in the cost of cement	cuft cuft cum		
12		Providing & Fixing Ist quality standard White, graother light shades glazed tiles confirming to IS: walls, floors, steps, pillars etc. laid on a bed of nowhite cement mixed with pigment to match the siplaster on walls and piller)  W.C.  Urinal  Providing and fixing 1st quality MAT finished cerand IS: 15622 colour such as white, grey, ivory, shades in floors, steps, pillars etc. laid on a bed white cement mixed with pigment to match the simortar bed 1:4).  Floor  Door sill	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	3.5  "fume red b and IS: 1562 ent slurry fittle comple  11.75  7.33  e size 300xi gcement slur the tile com  3.50  2.75	3.00  rown, light 22 of size nished witte (excluded and another size of size nished witte (excluded another size of si	t green, ligh 300mm x 20 th flush poir ing the cost 4.00 4.00  anfirming to light blue a d with flush	1.750 11.895 0.337 It blue and 00mm in thing in the tof cement 47.000 87.960 134.960 12.543 IS: 13755 Ind other light pointing in the cost of cement 10.500 2.063	cuft cuft cum sqm		
		Providing & Fixing Ist quality standard White, graother light shades glazed tiles confirming to IS: walls, floors, steps, pillars etc. laid on a bed of nowhite cement mixed with pigment to match the siplaster on walls and piller)  W.C.  Urinal  Providing and fixing 1st quality MAT finished cerand IS: 15622 colour such as white, grey, ivory, shades in floors, steps, pillars etc. laid on a bed white cement mixed with pigment to match the simortar bed 1:4).	ay, ivory 13753 a eat cem hade of 1 3 3 emiliar time reof neat hade of 1 1 3 3	3.5  "fume red b and IS: 1562 ent slurry fittle comple  11.75  7.33  2.50  2.75  2.50	3.00  rown, light 22 of size nished wit te (excluded as a size of size nished with the size of	t green, ligh 300mm x 20 th flush poir ing the cost 4.00 4.00  anfirming to light blue a d with flush	1.750 11.895 0.337 It blue and 00mm in ting in the tof cement  47.000 87.960 134.960 12.543 IS: 13755 Indicate the cost of cement  10.500 2.063 17.475	cuft cuft cum sqm		
12		Providing & Fixing Ist quality standard White, graother light shades glazed tiles confirming to IS: walls, floors, steps, pillars etc. laid on a bed of nowhite cement mixed with pigment to match the siplaster on walls and piller)  W.C.  Urinal  Providing and fixing 1st quality MAT finished cerand IS: 15622 colour such as white, grey, ivory, shades in floors, steps, pillars etc. laid on a bed white cement mixed with pigment to match the simortar bed 1:4).  Floor  Door sill	ay, ivory 13753 a eat cerm hade of 1 3 3 emic tile fume reof neat hade of 1 1 3 1 1	3.5  "fume red b and IS: 1562 ent slurry fittle comple  11.75  7.33  e size 300x: ed brown, ligoement slurthe tile com  3.50  2.75  2.50  7.74	3.00  rown, light 22 of size nished witte (exclude the exclude size of size nished witte (exclude size of size	t green, ligh 300mm x 20 th flush poir ing the cost 4.00 4.00  anfirming to light blue a d with flush	1.750 11.895 0.337 It blue and 00mm in a ting in the a of cement  47.000 87.960 134.960 12.543 IS: 13755 Ind other light pointing in the cost of cement  10.500 2.063 17.475 9.675	sqft sqft sqft sqft sqft		
12		Providing & Fixing Ist quality standard White, graother light shades glazed tiles confirming to IS: walls, floors, steps, pillars etc. laid on a bed of nowhite cement mixed with pigment to match the siplaster on walls and piller)  W.C.  Urinal  Providing and fixing 1st quality MAT finished cerand IS: 15622 colour such as white, grey, ivory, shades in floors, steps, pillars etc. laid on a bed white cement mixed with pigment to match the simortar bed 1:4).  Floor  Door sill	ay, ivory 13753 a eat cem hade of 1 3 3 eemic tile fume reof neat hade of 1 1 3 3	3.5  "fume red b and IS: 1562 ent slurry fittle comple  11.75  7.33  2.50  2.75  2.50	3.00  rown, light 22 of size nished witte (exclude the exclude size of size nished witte (exclude size of size	t green, ligh 300mm x 20 th flush poir ing the cost 4.00 4.00  anfirming to light blue a d with flush	1.750 11.895 0.337 It blue and 00mm in thing in the tof cement  47.000 87.960 134.960 12.543 IS: 13755 Ind other light pointing in the cost of cement  10.500 2.063 17.475 9.675 36.000	sqft sqft sqft sqft sqft sqft sqft		
12		Providing & Fixing Ist quality standard White, graother light shades glazed tiles confirming to IS: walls, floors, steps, pillars etc. laid on a bed of nowhite cement mixed with pigment to match the siplaster on walls and piller)  W.C.  Urinal  Providing and fixing 1st quality MAT finished cerand IS: 15622 colour such as white, grey, ivory, shades in floors, steps, pillars etc. laid on a bed white cement mixed with pigment to match the simortar bed 1:4).  Floor  Door sill	ay, ivory 13753 a eat cerm hade of 1 3 3 emic tile fume reof neat hade of 1 1 3 1 1	3.5  "fume red b and IS: 1562 ent slurry fittle comple  11.75  7.33  e size 300x: ed brown, ligoement slurthe tile com  3.50  2.75  2.50  7.74	3.00  rown, light 22 of size nished witte (exclude the exclude size of size nished witte (exclude size of size	t green, ligh 300mm x 20 th flush poir ing the cost 4.00 4.00  anfirming to light blue a d with flush	1.750 11.895 0.337 It blue and 00mm in hiting in the tof cement  47.000 87.960 134.960 12.543 IS: 13755 Ind other light pointing in the cost of cement  10.500 2.063 17.475 9.675 36.000 75.713	sqft sqft sqft sqft sqft sqft	613.00	7688.71
12		Providing & Fixing Ist quality standard White, graother light shades glazed tiles confirming to IS: walls, floors, steps, pillars etc. laid on a bed of nowhite cement mixed with pigment to match the siplaster on walls and piller)  W.C.  Urinal  Providing and fixing 1st quality MAT finished cerand IS: 15622 colour such as white, grey, ivory, shades in floors, steps, pillars etc. laid on a bed white cement mixed with pigment to match the simortar bed 1:4).  Floor  Door sill	ay, ivory 13753 a eat cerm hade of 1 3 3 emic tile fume reof neat hade of 1 1 3 1 1	3.5  "fume red b and IS: 1562 ent slurry fittle comple  11.75  7.33  e size 300x: ed brown, ligoement slurthe tile com  3.50  2.75  2.50  7.74	3.00  rown, light 22 of size nished witte (exclude the exclude size of size nished witte (exclude size of size	t green, ligh 300mm x 20 th flush poir ing the cost 4.00 4.00  anfirming to light blue a d with flush	1.750 11.895 0.337 It blue and 00mm in thing in the tof cement  47.000 87.960 134.960 12.543 IS: 13755 Ind other light pointing in the cost of cement  10.500 2.063 17.475 9.675 36.000	sqft sqft sqft sqft sqft sqft		7688.71
12		Providing & Fixing Ist quality standard White, graother light shades glazed tiles confirming to IS: walls, floors, steps, pillars etc. laid on a bed of nowhite cement mixed with pigment to match the siplaster on walls and piller)  W.C.  Urinal  Providing and fixing 1st quality MAT finished cenard IS: 15622 colour such as white, grey, ivory, shades in floors, steps, pillars etc. laid on a bed white cement mixed with pigment to match the simortar bed 1:4).  Floor  Door slill  urinal floor  Plaster on new surface on walls in cement sand finish:	ay, ivory 13753 a eat cem hade of 1 3 3 emic tile fume reof neat hade of 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	3.5  "fume red b and IS: 1562 ent slurry fittle comple  11.75  7.33  e size 300x: ed brown, ligoement slurthe tile com  3.50  2.75  2.50  7.74  12.00	3.00  rrown, light 22 of size nished witte (exclude the exclude size of size nished witte (exclude size of siz	t green, ligh 300mm x 2 th flush poir ing the cost 4.00 4.00  4.00  Infirming to light blue a d with flush cluding the c	1.750 11.895 0.337 It blue and 00mm in a ting in the a of cement  47.000 87.960 134.960 12.543 IS: 13755 Ind other light pointing in the cost of cement  10.500 2.063 17.475 9.675 36.000 75.713 7.036	sqft sqft sqft sqft sqft sqft	613.00	7688.71
12		Providing & Fixing Ist quality standard White, graother light shades glazed tiles confirming to IS: walls, floors, steps, pillars etc. laid on a bed of nowhite cement mixed with pigment to match the siplaster on walls and piller)  W.C.  Urinal  Providing and fixing 1st quality MAT finished cenard IS: 15622 colour such as white, grey, ivory, shades in floors, steps, pillars etc. laid on a bed white cement mixed with pigment to match the simortar bed 1:4).  Floor  Door sill  urinal floor	ay, ivory 13753 a eat cem hade of 1 3 3 emic tile fume reof neat hade of 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	3.5  "fume red b and IS: 1562 ent slurry fittle comple  11.75  7.33  e size 300x: ed brown, ligoement slurthe tile com  3.50  2.75  2.50  7.74  12.00	3.00  rrown, light 22 of size nished witte (exclude the exclude size of size nished witte (exclude size of siz	t green, ligh 300mm x 20 th flush poir ing the cost 4.00 4.00 confirming to light blue a dight flush cluding the cost of joint etc.	1.750 11.895 0.337 It blue and 00mm in a ting in the a of cement  47.000 87.960 134.960 12.543 IS: 13755 Ind other light pointing in the cost of cement  10.500 2.063 17.475 9.675 36.000 75.713 7.036	sqft sqft sqft sqft sqft sqft	613.00	7688.71
12		Providing & Fixing Ist quality standard White, grace other light shades glazed tiles confirming to IS: walls, floors, steps, pillars etc. laid on a bed of now hite cement mixed with pigment to match the signature on walls and piller)  W.C.  Urinal  Providing and fixing 1st quality MAT finished cerand IS: 15622 colour such as white, grey, ivory, shades in floors, steps, pillars etc. laid on a bed white cement mixed with pigment to match the simortar bed 1:4).  Floor  Door slill  urinal floor  Plaster on new surface on walls in cement sand finish:  Plaster	ay, ivory 13753 a eat cemment tile fume reof neat thade of 1 1 1 1 mortar	3.5  fume red b and IS: 1562 ent slurry fittle comple  11.75  7.33  2.50  2.75  2.50  7.74  12.00  1:6 including	3.00  rrown, light 22 of size nished witte (exclude the exclude size of size nished witte (exclude size of siz	t green, ligh 300mm x 20 th flush poir ing the cost 4.00 4.00 confirming to light blue a d with flush duding the cost of joint etc.	1.750 11.895 0.337 It blue and 00mm in thing in the tof cement  47.000 87.960 134.960 12.543 IS: 13755 Ind other light pointing in the cost of cement  10.500 2.063 17.475 9.675 36.000 75.713 7.036  complete fine	sqft sqft sqft sqft sqft sqft	613.00	7688.71
12		Providing & Fixing Ist quality standard White, grace other light shades glazed tiles confirming to IS: walls, floors, steps, pillars etc. laid on a bed of now hite cement mixed with pigment to match the signature on walls and piller)  W.C.  Urinal  Providing and fixing 1st quality MAT finished cerand IS: 15622 colour such as white, grey, ivory, shades in floors, steps, pillars etc. laid on a bed white cement mixed with pigment to match the simortar bed 1:4).  Floor  Door slill  urinal floor  Plaster on new surface on walls in cement sand finish:  Plaster	ay, ivory 13753 a eat cem hade of 1 3 3 1 1 1 mortar	3.5  fume red b and IS: 1562 ent slurry fi tile comple  11.75  7.33  2.50  2.75  2.50  7.74  12.00  1:6 including	3.00  rrown, light 22 of size nished witte (exclude the exclude size of size nished witte (exclude size of siz	t green, ligh 300mm x 20 th flush poir ing the cost 4.00 4.00 confirming to light blue a dight flush cluding the cost of joint etc.	1.750 11.895 0.337 It blue and 00mm in a ting in the at of cement  47.000 87.960 134.960 12.543 IS: 13755 Ind other light pointing in the cost of cement  10.500 2.063 17.475 9.675 36.000 75.713 7.036  complete fine	sqft sqft sqft sqft sqft sqft	613.00	7688.71
12		Providing & Fixing Ist quality standard White, graother light shades glazed tiles confirming to IS: walls, floors, steps, pillars etc. laid on a bed of nowhite cement mixed with pigment to match the siplaster on walls and piller)  W.C.  Urinal  Providing and fixing 1st quality MAT finished cerand IS: 15622 colour such as white, grey, ivory, shades in floors, steps, pillars etc. laid on a bed white cement mixed with pigment to match the simortar bed 1:4).  Floor  Door slill  urinal floor  Plaster on new surface on walls in cement sand finish:  Plaster  W.C.	ay, ivory 13753 a eat cemhade of 1 3 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	3.5  ,fume red b and IS: 1562 ent slurry fi tile comple  11.75  7.33  2.50  2.75  2.50  7.74  12.00  1:6 includin  12.00  3.75  3.00  3.75  3.75	3.00  rrown, light 22 of size nished witte (exclude the exclude size of size nished witte (exclude size of siz	t green, ligh 300mm x 20 th flush poir ing the cost 4.00 4.00 4.00 softming to light blue a d with flush cluding the cost of joint etc.	1.750 11.895 0.337 It blue and 00mm in a ting in the at of cement  47.000 87.960 134.960 12.543 IS: 13755 Ind other light pointing in the cost of cement  10.500 2.063 17.475 9.675 36.000 75.713 7.036  complete fine  72.000 116.000 18.000 30.000 22.500	sqft sqft sqft sqft sqft sqft	613.00	7688.71
12		Providing & Fixing Ist quality standard White, grace other light shades glazed tiles confirming to IS: walls, floors, steps, pillars etc. laid on a bed of now hite cement mixed with pigment to match the signature on walls and piller)  W.C.  Urinal  Providing and fixing 1st quality MAT finished cerand IS: 15622 colour such as white, grey, ivory, shades in floors, steps, pillars etc. laid on a bed white cement mixed with pigment to match the simortar bed 1:4).  Floor  Door slill  urinal floor  Plaster on new surface on walls in cement sand finish:  Plaster	ay, ivory 13753 a eat cerm hade of 1 3 3 1 1 1 1 1 1 1 1 4	3.5  "fume red b and IS: 1562 ent slurry fit tile comple  11.75  7.33  2.50  7.74  12.00  1:6 including  12.00  14.50  3.00  3.75  3.75  2.50	3.00  rrown, light 22 of size nished witte (exclude the exclude size of size nished witte (exclude size of siz	t green, ligh 300mm x 2 2th flush poir ing the cost 4.00 4.00 4.00 shiften blue a d with flush cluding the cost of joint etc.	1.750 11.895 0.337 It blue and 00mm in a ting in the at of cement  47.000 87.960 134.960 12.543 IS: 13755 Ind other light pointing in the cost of cement  10.500 2.063 17.475 9.675 36.000 75.713 7.036  complete fine  72.000 116.000 18.000 30.000 22.500 60.000	sqft sqft sqft sqft sqft sqft	613.00	7688.71
12		Providing & Fixing Ist quality standard White, graother light shades glazed tiles confirming to IS: walls, floors, steps, pillars etc. laid on a bed of nowhite cement mixed with pigment to match the siplaster on walls and piller)  W.C.  Urinal  Providing and fixing 1st quality MAT finished cerand IS: 15622 colour such as white, grey, ivory, shades in floors, steps, pillars etc. laid on a bed white cement mixed with pigment to match the simortar bed 1:4).  Floor  Door slill  urinal floor  Plaster on new surface on walls in cement sand finish:  Plaster  W.C.	1	3.5  fume red b and IS: 1562 ent slurry fittle comple  11.75  7.33  2.50  2.75  2.50  7.74  12.00  14.50  3.00  3.75  3.75  2.50  2.33  3.88	3.00  rrown, light 22 of size nished witte (exclude the exclude size of size nished witte (exclude size of siz	t green, ligh 300mm x 20 th flush poir ing the cost 4.00 4.00 4.00 softming to light blue a d with flush cluding the cost of joint etc.	1.750 11.895 0.337 It blue and 00mm in a ting in the and of cement  47.000 87.960 134.960 12.543 IS: 13755 Ind other light pointing in the cost of cement  10.500 2.063 17.475 9.675 36.000 75.713 7.036  complete fine  72.000 116.000 18.000 30.000 22.500 60.000 41.940 23.280	sqft sqft sqft sqft sqft sqft	613.00	7688.71
12		Providing & Fixing Ist quality standard White, graother light shades glazed tiles confirming to IS: walls, floors, steps, pillars etc. laid on a bed of now hite cement mixed with pigment to match the siplaster on walls and piller)  W.C.  Urinal  Providing and fixing 1st quality MAT finished cerand IS: 15622 colour such as white, grey, ivory, shades in floors, steps, pillars etc. laid on a bed white cement mixed with pigment to match the simortar bed 1:4).  Floor  Door slll  urinal floor  Plaster on new surface on walls in cement sand finish:  Plaster  W.C.  urinal wall	1	3.5  fume red b and IS: 1562 ent slurry fittle comple  11.75  7.33  2.50  2.75  2.50  7.74  12.00  14.50  3.00  3.75  3.75  2.50  2.33  3.88  2.75	3.00  rrown, light 22 of size nished witte (exclude the exclude size of size nished witte (exclude size of siz	t green, ligh 300mm x 2 th flush poir ing the cost 4.00 4.00 4.00 full firm the cost 6.00 full firm th	1.750 11.895 0.337 It blue and 00mm in a ting in the a of cement  47.000 87.960 134.960 12.543 IS: 13755 Ind other light pointing in the cost of cement  10.500 2.063 17.475 9.675 36.000 75.713 7.036  complete fine  72.000 116.000 18.000 30.000 22.500 60.000 41.940 23.280 -17.875	sqft sqft sqft sqft sqft sqft	613.00	
12		Providing & Fixing Ist quality standard White, graother light shades glazed tiles confirming to IS: walls, floors, steps, pillars etc. laid on a bed of now hite cement mixed with pigment to match the siplaster on walls and piller)  W.C.  Urinal  Providing and fixing 1st quality MAT finished cerand IS: 15622 colour such as white, grey, ivory, shades in floors, steps, pillars etc. laid on a bed white cement mixed with pigment to match the simortar bed 1:4).  Floor  Door slill  urinal floor  Plaster on new surface on walls in cement sand finish:  Plaster  W.C.	1	3.5  fume red b and IS: 1562 ent slurry fittle comple  11.75  7.33  2.50  2.75  2.50  7.74  12.00  14.50  3.00  3.75  3.75  2.50  2.33  3.88	3.00  rrown, light 22 of size nished witte (exclude the exclude size of size nished witte (exclude size of siz	t green, ligh 300mm x 2 th flush poir ing the cost 4.00 4.00 full firm the cost 6 full full full firm the cost 6 full full full full full full full fu	1.750 11.895 0.337 It blue and 00mm in a ting in the and of cement  47.000 87.960 134.960 12.543 IS: 13755 Ind other light pointing in the cost of cement  10.500 2.063 17.475 9.675 36.000 75.713 7.036  complete fine  72.000 116.000 18.000 30.000 22.500 60.000 41.940 23.280	sqft sqft sqft sqft sqft sqft	613.00	7688.71

S. No.	BSR Ref	Description	No.	L	В	H/D	Qty	Unit	Rate	Amount
		plaster Long wall	2	13.17		8.00	210.656			
		Short wall	1	8.25		8.00	66.000			
			1	5.25		8.00	42.000			
		Ramp	2	4.00		1.00	8.000			
		add for toilet height	1	17.50		2.00	35.000			
		deduction door	1	2.75		-6.5	-17.875			
		vent	1	2.00		-1.5	-3.000			
				L		L	340.781			
				Net qty		(B)	31.671			
		Total					65.393	sqm	128.00	8370.27
		Centering & shuttering with plywood or steel sheets inc		strutting, pro	pping braci	ng both ways	s with steel			
		props and removal of formwork for upto floor five leve Suspended floors, roofs, landings, staircases, balconie blocks, sills, chhajjas, lintel, beam, plinth beam etc.		rs, cantileve	rs, bands,	coping bed p	lates, anchor			
15		blocks, siis, crinajjas, iiritei, bearri, piiritri bearri etc.	1	3.000	3.500		10.500	sqft		
IJ			1	2.500	0.750		1.875	sqft	†	
			1	2.000	0.750		1.500	sqft	†	
			-	2.000	0.700		13.875	sqft	†	
							1.289	sqm	295.00	380.40
16		Providing and fabricating reinforcement for R.C.C placing in position and binding (including cost of		-	-		bending,	oqiii	200.00	000.10
		Bar					20.000	kg	74.00	1480.00
		Providing and laying in position specified grade of	of ceme	ent concret	e for RCC	structural e	elements upto		1	
17	B- 43/10.1 6	floor five level including curing, compaction, finisl cement: 3 coarse sand) and making good the joir cost of centering, shuttering and reinforcement follows up to 15°, landings, balconies, shelves, chand spiral staircases etc.  M20 grade Nominal Mix / Design Mix	cluding the ers having							
		INIZO GIAGE NOTIIIIAI WIIX / Design WIIX	-1	4.250	4.50	0.333	6 260			
			1	4.250	4.50	0.333	<b>6.369</b> 6.369	ou #		
						<u> </u>			4112.00	742.28
			-4	#:			0.181	cum	4112.00	142.20
	B-	Grading roof for water proofing treatment with water Cement mortar 1:4 (1cement : 4 coarse sand)	ater pro	ning comp	ourid					
18	43/10.1	,								
	7.1		1	4.250	4.50	0.083	1.594			
							0.045	cum	4426.25	199.75
	_	White washing three or more coats to give an even	en shad	de on new	surfaces .					
40	B-						116			
19	61/12.3						110			
	5.1			Item N	No. 11		10.781		40.00	407.04
		PANTING ON DOORS & WINDOWS :- Painting	with sy			l t of approve		sqm	10.00	107.81
20	B- 63/12.4 8.1	manufacture in all shade to give an even shade	new ste	eel work (2	or more c	oat on new	work).			
	0.1			2.25 x Q	ty.item No	0.8	40.219	sqm	55.00	2212.03
21		Finishing wall with water proofing cement paint o shade to give an even shade including all scaffo kg/10 sqm).								
		Item No. 11 54.612					E4 040			
							54.610	sqm	46.00	2512.06
22		LS provision for incinerator								2000.00
							•		Total	97334.54
									Total	31004.04
ART	-B (sanit	ary Work) Based on BSR PWD 2013, Jaipur Ci	rcle							
1	S-1	P & F Indian type white glazed vitreous china 1st Mark) with 100 mm vitreous china P or S trap inc wall and floor: Size530x410 mm	1	each	1995.00	1995.00				
		P & F WVC wash basin (1st quality, I.S. : 2556 N	lark) of	approved	make with	C.I.				
	S-	brackets duly painted, 1 No. 15 mm C.P. Pillar co				•				
2		32 mm C.P. brass waste coupling of approved m				complete	3	each	1718.00	5154.00
	2	including cutting & making good the wall.: 450 x			LISTO PIPO	- Jp. 010				
					auglity M	C Par /IC				
3	S-3/	P. & F Squatting Pan (Indian type) white glazed v : 2556 Mark) with 100 mm vitreous china P or S t the wall and floor (excluding the pair of foot rest.)	rap inc			•	3	each	891.00	2673.00
	1.19.1	Size 450mm.								
		OIZE TOUTIIII.								

S. No.	BSR Ref	Description N	No.	L	В	H/D	Qty	Unit	Rate	Amount
4	S- 13/2.7.	P & F Bib Cock (IS : 8931 Mark) superior quality of a 15 mm nominal bore.	appro	ved make	C.P. Bras	s 400 gm,	1	each	259.00	259.00
5	S- 14/2.12 .1	14/2.12 connection 15 mm brass (IS : 8931) 4 each 586.00								2344.00
6	S- 27/3.17 .3	27/3.17 .3 P&F rigid PVC Pipe (IS:4985 mark) class II/ (4 kg. /cm2.) approved quality /make including joining the pipe with solvent cement rubber ring and lubricant. 110 mm dia							188.00	797.00
7	S- 27/3.17 .3	P&F rigid PVC Pipe (IS:4985 mark) class II/ (4 Kg. // including joining the pipe with solvent cement rubbe		1	each	188.00	188.00			
8	S- 28/3.18 .9	P&F rigid PVC pipe fittings (IS: 4985 mark) of appro the pipe with solvent cement rubber ring and lubrica				0,	4	each	104.00	416.00
9	S- 28/3.18	Pipe Clip 110 mm dia					4	each	25.00	100.00
10	S- 28/3.18 .12(ii)	P&F rigid PVC pipe fittings (IS: 4985 mark) of appro the pipe with solvent cement rubber ring and lubrica					1	each	39.00	39.00
11	Construction of Soakage well in all types of soil of approved drawing , top 90 cm portion in 450 mm thick with cement mortar 1:6 80 mm stone slab covering jointing of slab in CM 1 : 3, Ralthal, Kharanja, 40 mm thick M-15 grade C.C. flooring earthwork etc. complete as per approved drawing including disposal of surplus earth within a lead of 50 Mtr.inner dia 90 cm & 10 to 12 m deep							3795.00		
12	Construction of Chamber in all types of soil with 300 mm thick masnory in CM. 1: 6, 100 mm thick C.C. 1: 5: 10 in foundation, 20 mm thick inside plaster in Cm 1: 6, finished with floating neat cement 50 mm thick M-15 grade C.C. flooring earthwork etc. complete as per design including disposal of surplus earth within a lead of 50 Mtr.Inside size 450 x 450 mm depth upto 0.5 M & 5 Kg CI cover with frame.						1	each	1683.00	1683.00
13	S- 14/2.11	P & F Ball Cock (IS : 1703 Mark) with Rod & P.V.C. mm	Ball	complete.E	Brass wt. 4	100 gm, 15	1	each	228.00	228.00
14	S- 15/2.15	P & F Full way valve (IS : 778 Mark) or wheel valve mm nominal bore.	of ap	proved ma	ike. Gun n	netal 15	1	each	277.00	277.00
15	S- 12/2.2.	P&F GI Pipes (External Work) with GI fittings exclud trenching and refilling each etc. 15 mm dia nominal			239 <b>M</b> ark)	including	10	mtr	168.00	1680.00
16		P & F G.I. pipes (Internal Work) with G.I. Fittings of MS clamps including cutting and making good the v		_	`	Mark) &				
		25mm dia nominal bore 25 mm dia nominal bore B	class	3			5	mtr	277.00	1385.00
17	S- 18/2.26 .3	P & F Precast R.C.C. Water Storage Tank with R.C. Long G.I. over-flow pipe including making connectio ground level having:340ltr capacity size 90x75x60 c	ns et				1	each	720.00	720.00
		Sub To	otal F	Part B					· -	23733.00
		Tota	al (A+	+B)						121067.54
		Add for QC & Contingency 3%)								3632.03
										124699.56
		Add provision for water		/ Rs	a water f	toilat bla-l	(I C)			125000.00
		Add provision for water	SOU	res/runnin	y water for	tollet block	(L.S)			20000.00 145000.00
		Add for Prorata /supe	ervisio	n charges	@ 5%					7250.00
				3 50	<u></u>					152250.00
		Add for Operation& Mainta	ainer	nce@Rs5	000 per y	ear for 3y	ears			15000.00
										167250.00

Say Rs 1.67 Lac only